i g ‘ Expanding Triple Brackets
N

e
1 Expand and simplify (x + 1)(x + 2)(x + 5)

(oc+ 1)o0+2)= X+ let+x 4]
= L+ 2+
(5+ R + 2)(3 +S)

= Xy Gt 34 ISx+ 20 +10
O 23 + [T +(0

(Total for Question 1 is 3 marks)

2 Expand and simplify (x + 3)(x + 4)(x + 6)
(x+ ) A+d4) = 2T +G 2+ >+ 12
= ot Fx 1L
O T+ 1 D(o0+6)
= XTIt &2 Wt 7L

2 4\t Se+FL

(Total for Question 2 is 3 marks)

3 Expand and simplify (x +5)(x—2)(x + 1)

(x1S)(A(=2) = ~>*-25(+Sx—-10
= "+ 3 —l0
(%*+2x ~10)(x+1)

T %Py F+ 3 43 110X —1D

[4 2
ﬁ X+ L}'X_, e 2 A |0
(Total for Question 3 is 3 marks)
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4 Expand and simplify (x—3)(x—4)(x + 2)

(5¢—2)o~4) = -l —3x + (L
=t —3x 412
(=3 m)(x+2)
= %+ o= e #1200+

(Total for Question 4 is 3 marks)

5 Expand and simplify (y —2)(y - 2)(y — 4)
(3-7)(5——1\ - t&b: 2:3~23 x4
- a -'L\'a + b
(9" by - 1)
- 33 _.l\,iz'_. ﬂ(q"—\' \b:j +Ll“ —| b
W —Qu™ +204 b

i ) ==
QTotal for‘@uestlon 5 is 3 marks)

6 Expand and simplify (x + 5)(x + 3)?

(J(;PS)(:H )z o+ 2SS
= ¥+ 83x +\5
(3¢ +8x +19) o+ D)
- 124 3 1R+ 242+ IS xS

| D
ﬁ LW+ W+ S
(Total for Question 6 is 3 marks)
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7 Expand and simplify  (x + 10)(x — 6)?

(x+10Xx—6) = x* - ©x+10 x - 60
= X +4x-60
(x* Yo - 60) X - 6)

e S bx®+4oct - 21 -60 x +3260

X — 2L —Blex+ 260

(Total for Question 7 is 3 marks)

8 Expand and simplify (h-5)3

(A=) -9 = W= Sh-Gh+ 25
= h" —1oh+ 1S
(h==10h + 28 )(h- )
= W - Sh -0k SO +2S h-[2S

W2 -\Sh*+2Sh -|2S

(Total for Question 8 is 3 marks)

9 Expand and simplify (x + 12)(x—2)(x + 2)

(JH’Z)[QL"ZJ = XP-22 4 —-q.
= -4
(xc2=l)x+12) = B+ x® bz —4g

5
= LIl b -~ tx -8
(Total for Question 9 is 3 marks)
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10 Expand and simplify (2x+ 1)(x—3)(x— 1)

(ZJL—H)(JL—}) =2x¥-bx +x-2
= 2x¥-Cx— 3
(2}-7'——3.1— 3\(1——\\
= B x-St +Gx - 242

22 -FaF 1o+

(Total for Question 10 is 3 marks)

11 Expand and simplify (3p +2)(2p + 1)(p + 5)
(3p+D(2p+)) = bp +5p+ip +1
=bplrIptl
(694Fp)(p+S)
= (r,'\) Vv -SOP ﬂ—? -\a@SP\-Z?‘\'lO

619 y AFor 23 prlo

(Total for Question 11 is 3 marks)

12 Expand and simplify (3x + 1)(2x—1)(4x—1)

(31-"‘”(2)(—0 = 6ot — x +2x —|
- ot —a —|

(6% — =) (4x-1)

= Wra® -6 =4 e U\

Ve, e 102 - 2x A\
(Total for Question 12 is 3 marks)
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13 Show that (3x + 1)(3x—1)(2x + 3) can be written in the form ax® + bx? + cx + d
where a, b, ¢ and d are all integers.

(Tx\ ) (22~-1) = 9o -3 + Lo - |
= qat -\

(402 +3) = o + ¥ - 2]

180 2+ =1 -2

(Total for Question 13 is 3 marks)

14 Show that (5x + 1)(x —3)(x—2) — (x + 2)?> can be written in the form ax® + bx? + cx + d
where a, b, c and d are all integers.

(SxeNa-2) = SaF-18x +x -2
= S~ -

(g :x,"—ll\-x——’g(x "?-\
= S — 10> I * +29x “2x+b
= Sa® -2t 1S +6

(14—2)(14'1) = X7+ Iy Do+l

= Xy b+l
ST W+ x+ b — - Ux -4

S 26w Nx 4L

(Total for Question 14 is 6 marks)
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15 X+4)xX+3YxX-1) - (X+2)(x-2)(x+5)=(x+a)(x+b)

Given that a > b, work out the values of a and b.

(x+w)(o+2) = a® + 2 rbx 4L
= X+ F+H
(e D x—1) = -3t -Fx -\l
= X"+ bxX*+Sa-\1

(x-ﬂlﬂ-?f) = F-De ylx -
~ x4
(- (x+9) = P+ S -bx - 20

ig'i'(u:b—l— Sx-11 —-(f’ ‘I’SIL—UJL —'10\
= 3 +bx*+Sx-1L - X -Sx" +lx+20
= o*+9x +%

> (YL

- 8

|

(Total for Question 15 is 8 marks)
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